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‘ancient scientist sun’ is written as ‘la ac df’,

‘ancient moon heat crystal pink’ is written as ‘oq pr rs ac tp’,

‘new scientist moon heat queen’ is written as ‘tp df rs ge hg’

‘space moon pink’ is written as ‘rt tp pr’.

What is the code for ‘pink’?

(a) oq

(b) rs

(c) pr

(d) ac

(e) tp

‘space heat moon crystal’ could be coded as?

(a) tp rt rs oq

(b) rt ac rs ge

(c) df rt rs oq

(d) rt ac pr oq

(e) None of these
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‘ancient scientist sun’ is written as ‘la ac df’,

‘ancient moon heat crystal pink’ is written as ‘oq pr rs ac tp’,

‘new scientist moon heat queen’ is written as ‘tp df rs ge hg’

‘space moon pink’ is written as ‘rt tp pr’.

Which of the following word represent ‘hg’ in coding language?

(a) scientist

(b) moon

(c) queen

(d) new

(e) Either ‘new’ or ‘queen’

Which of the following may be the code for ‘keep moon sun’?

(a) tp la rt

(b) la df oq

(c) lb la tp

(d) ge la ac

(e) None of these
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Seven persons-P, Q, R, S, T, U, and V are
purchasing a different fruits-Mango,
Plum, Kiwi, Fig, Apricot, Papaya, and
Peach but not necessarily in the same
order. Each of them bought fruits
at different weights(kg)-2, 3, 4, 5, 6, 7, and 8.

Q bought 6kg of Papaya. U bought 7 kg
of fruits. Either T or R bought plum. R

bought a fruit which is twice the weight of

Peach.The weight of apricot is least among other

fruits. The weight of fruits bought by R
and S is not an odd number. The weight
of kiwi is more than that of fig. Neither
S nor T bought Apricot. The weight of

mango is one kg more than the weight of

Apricot. V bought neither mango nor
peach. The weight of plum is less than
the weight of kiwi.

सातव्यक्ति- P, Q, R, S, T, U और V एकअलगफल
खरीद रहे हैं-आम, बेर, कीवी, अंजीर, खुबानी, 
पपीताऔरआड़ू लेककन जरूरी नही ं कक इसी क्रम में

हो। उनमें से प्रते्यक ने अलग-अलग वजन (ककलो) -2, 
3, 4, 5, 6, 7, और 8 के फलखरीदे।
Q ने 6 ककग्रा पपीता खरीदा। U ने 7 ककग्रा फल
खरीदे। या तो T या R ने बेर खरीदा। R ने एकफल
खरीदा जोआड़ू के वजनका दोगुना है। खुबानी का

वजनअन्यफलोंमें सबसे कम है। R और S द्वारा
खरीदे गएफलोंका भार कवषम संख्या नही ं है। कीवी

का वजन अंजीर के वजन सेज्यादा होता है। न तो S 
औरन ही T ने खुबानी खरीदी।आमका वजन
खुबानी के वजन से एक ककलोज्यादा होता है। V ने न
तोआमऔर न हीआड़ू खरीदा। बेर का वजनकीवी

के वजन से भी कम होता है।
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Seven persons-P, Q, R, S, T, U, and V are
purchasing a different fruits-Mango,
Plum, Kiwi, Fig, Apricot, Papaya, and
Peach but not necessarily in the same
order. Each of them bought fruits
at different weights(kg)-2, 3, 4, 5, 6, 7, and 8.

Q bought 6kg of Papaya. U bought 7 kg
of fruits. Either T or R bought plum. R

bought a fruit which is twice the weight of

Peach.The weight of apricot is least among other

fruits. The weight of fruits bought by R
and S is not an odd number. The weight
of kiwi is more than that of fig. Neither
S nor T bought Apricot. The weight of

mango is one kg more than the weight of

Apricot. V bought neither mango nor
peach. The weight of plum is less than
the weight of kiwi.
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Who among the following person bought Peach fruit?

A.P
B.R
C.S
D.T
E.V

Which among the following fruit is bought by T?

A.Plum
B.Fig
C.Apricot
D.Mango
E.Papaya

How many kilograms of fruits bought by R?

A.4
B.3
C.5
D.8
E.7
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Which among the following statement(s) is/are true 

with respect to U?

I). U bought Fig fruit
II). U bought 7kg of fruit
III). The sum of the weight of Apricot and Peach is 

equal to the weight of fruit which is bought by U.
A.Only I and III
B.Only III
C.Only I and II
D.Only III
E.None of these

What is the sum of the weight of fruits which bought 

by T, U, and P?

A.15
B.18
C.13
D.10
E.20
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TOP HIM SEW ANS DAQ

If the letters within each word are arranged according to the alphabetical series from left to right,

then what is the 2nd letter of the word, which is fourth from the left end?

यकद प्रते्यक शब्द के अक्षरो ं को बाएं से दाएं वर्णमाला श्रंखला के अनुसार व्यवक्तथित ककया जाता है, तो शब्द का द़ू सरा

अक्षर कौन सा है, जो बाएं छोर से चौिा है?

A.S
B.A
C.N
D.T
E.None of these
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TOP HIM SEW ANS DAQ

If each vowel in each word is changed to its next letter according to the alphabetical

series, then how many meaningful words will be formed?

यकद प्रते्यक शब्द के प्रते्यकस्वर को वर्ाणनुक्रम के अनुसार उसके अगले अक्षर से बदल कदया जाए, तो

ककतने अिणप़ूर्ण शब्द बनेंगे?

A.None
B.1
C.2
D.3
E.None of these
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TOP HIM SEW ANS DAQ

If each consonant in each word is changed to its previous letter according to the

alphabetical series then, how many words will be there which contain at most one

vowel?

यकद प्रते्यक शब्द में प्रते्यक वं्यजन को वर्ाणनुक्रम के अनुसार उसके कपछले अक्षर से बदल कदया जाता

है, तो ऐसे ककतने शब्द होगें कजनमें अकिकतम एकस्वर होगा?

A.None
B.1
C.2
D.3
E.None of these
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Eight different groceries viz. Dal, Fennel,
Jeera, Oil, Pepper, Salt, Sugar, and Turmeric
are placed in a square box such that all of
them are facing towards the center, but not
necessarily in the same order. Four items are
placed at the corners while four items are
placed at the middle of the sides.
Salt is placed at one of the corners of the
box. Two items are placed between Salt and
Pepper, which is placed to the immediate left
of Sugar. The number of items between
Sugar and Salt is the same as the number of
items between Pepper and Dal when counted
from the left of Salt and Pepper. One item is
placed between Dal and Turmeric, which is
not placed adjacent to Sugar. Jeera was
placed to the immediate right of Fennel.

आठअलग ककराने का सामान अिाणत। दाल, सौफं, जीरा, 
तेल, काली कमचण, नमक, चीनीऔर हल्दीको एक वगाणकार
किबे्ब में इस प्रकार रखा जाता है कक उन सभी का मुखकें द्र

कीओर हो, लेककनआवश्यकनही ंइसी क्रम में हो। चार

वसु्तओंको कोनो ं पर रखा गया है जबकक चार वसु्तओंको

भुजाओं के बीच में रखा गया है।

नमकको किबे्ब के ककसी एककोने पर रखा गया है। नमक

औरकाली कमचण के बीच दो वसु्तएँ रखी जाती हैं, जो चीनी के
ठीक बायी ंओर रखी जाती हैं। नमकऔरकाली कमचण के

बाईंओर से कगनने पर चीनीऔर नमक के बीच की वसु्तओं

की संख्या उतनी ही होती है कजतनी कककाली कमचण और

दाल के बीच की वसु्तओंकी संख्या। दालऔर हल्दी के बीच

एक वसु्त रखी जाती है, जो चीनी के बगल में नही ंरखी जाती
है। जीरा को सौफं के ठीक दायें रखा गया।
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Eight different groceries viz. Dal, Fennel,
Jeera, Oil, Pepper, Salt, Sugar, and Turmeric
are placed in a square box such that all of
them are facing towards the center, but not
necessarily in the same order. Four items are
placed at the corners while four items are
placed at the middle of the sides.
Salt is placed at one of the corners of the
box. Two items are placed between Salt and
Pepper, which is placed to the immediate left
of Sugar. The number of items between
Sugar and Salt is the same as the number of
items between Pepper and Dal when counted
from the left of Salt and Pepper. One item is
placed between Dal and Turmeric, which is
not placed adjacent to Sugar. Jeera was
placed to the immediate right of Fennel.
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Which of the following item is placed second to the right of Salt?

A.Fennel
B.Jeera
C.Oil
D.Pepper
E.None of these

How many items are placed between Jeera and Sugar when 

counted from the left of Jeera?

A.One
B.Two
C.Three
D.More than three
E.None

If Dal is related to Oil and Pepper is related to Jeera in a certain

way, then Turmeric is related to which of the following item?

A.Salt
B.Sugar
C.Fennel
D.Oil
E.None of these
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Which of the following statement is/are true with respect to 

the final arrangement?

A.Salt is placed third to the left of Fennel
B.Both Dal and Oil are placed at the corners of the box
C.More than two items are placed from the left of 

Turmeric to Jeera
D.Neither fennel nor Sugar is adjacent to Oil
E.None of these are true

What is the position of Sugar with respect to Oil?

A.Second to the left
B.Third to the right
C.Fourth to the left
D.Immediate right
E.None of these
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“Glow offers tag grand” is written as ‘O5 S6 P4 B3’

“Mental health special name” is written as ‘B7 B6 N4 U6’

“Our points eight shine” is written as ‘U6 I5 O5 V3’

“Coast the method range” is written as ‘T5 H5 I3 P6’

What is the code for the word “Chairman” in the code language?

A.C8
B.B6
C.B8
D.D7
E.None of these

What is the code for the phrase “Federation role” in the code 

language?

A.P10 K4
B.N10 M3
C.N12 P6
D.P10 M4
E.None of these
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“Glow offers tag grand” is written as ‘O5 S6 P4 B3’

“Mental health special name” is written as ‘B7 B6 N4 U6’

“Our points eight shine” is written as ‘U6 I5 O5 V3’

“Coast the method range” is written as ‘T5 H5 I3 P6’

What is the code for the word “Knockouts” in the code language?

A.T9
B.S6
C.U9
D.T8
E.None of these

What is the possible word that denotes the code “S7” 

in the code language?

A.Attern
B.Sensor
C.Gallery
D.Cannot be determined
E.None of these
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Ten persons viz. M, N, O, P, Q, R, S, T, U,
and V are living in two different flats viz.
Flat 1 and Flat 2 of a five story building,
but not necessarily in the same order.
Flat 1 is to the west of flat 2. The
lowermost floor is numbered as 1 and
the floor immediately above is
numbered as 2 and so on.
U lives on an even-numbered floor and
two floors below S in the same flat. Only
one floor is there between S and R who
lives immediately above T in same flat.
Both M and Q lives on the topmost floor
where Q lives to the east of M. One floor
is between Q and N where both lives in
different flats. The number of the floor
below N is one more than the number of
floors above P. O lives below V but not
on the same flat.

दसव्यक्तिअिाणत। एम, एन, ओ, पी, क्य़ू, आर, एस, टी, 
य़ू, औरवी दो अलग-अलग फै्लटो ंमें रह रहे हैं अिाणत।

पांच मंकजला इमारत का फै्लट 1 औरफै्लट 2, लेककन
जरूरी नही ं कक इसी क्रम में हो। फै्लट 1 फै्लट 2 के
पकिम में है। सबसे कनचली मंकजलकी संख्या 1 है और
ठीकऊपर वाली मंकजलकी संख्या 2 है और इसी तरह
आगेभी।

U एकसम संख्या वाली मंकजल पर रहता हैऔर S के
नीचे दो मंकजलसमान फै्लट में रहता है। S और R के
मध्य केवल एक मंकजल है जो समान फै्लट में T के ठीक
ऊपर रहता है।M और Q दोनो ंसबसे ऊपरी मंकजल पर
रहते हैं जहां Q, M के प़ूवण में रहता है। एक मंकजल Q 
और N के बीच है जहां दोनो ंअलग-अलग फै्लटो ंमें रहते

हैं। N के नीचे तलकी संख्या P के ऊपर तलो ंकी संख्या

से एकअकिक है। O, V के नीचे रहता है लेककन समान
फै्लट पर नही ंरहता है।
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Ten persons viz. M, N, O, P, Q, R, S, T, U,
and V are living in two different flats viz.
Flat 1 and Flat 2 of a five story building,
but not necessarily in the same order.
Flat 1 is to the west of flat 2. The
lowermost floor is numbered as 1 and
the floor immediately above is
numbered as 2 and so on.
U lives on an even-numbered floor and
two floors below S in the same flat. Only
one floor is there between S and R who
lives immediately above T in same flat.
Both M and Q lives on the topmost floor
where Q lives to the east of M. One floor
is between Q and N where both lives in
different flats. The number of the floor
below N is one more than the number of
floors above P. O lives below V but not
on the same flat.
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Who among the following person lives on the same 

floor with N?

A.P
B.O
C.V
D.Q
E.None of these

In which of the following floor and flat does P lives?

A.Floor 3, flat 1
B.Floor 2, flat 2
C.Floor 3, flat 2
D.Floor 4, flat 2
E.None of these

Four of the following five are alike in a certain way and hence form

a group. Find the one that doesn’t belong to that group.

A.S
B.Q
C.U
D.T
E.R
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If Q is related to S and U is related to T in a certain 

way, then who among the following is related to O?

A.The one who lives east of U
B.M
C.P
D.The one who lives west of V
E.None of these

How many floors are there above V?

A.As many floors are there below R
B.Two
C.As many floors are there between Q and T
D.More than three
E.None
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Point S is 8km north of point M. Point G is 7km north of point K. Point O is north of point R 
and east of point S. Point K is 9km west of point R. Point G is 6km east of point M. Point T 
is 3km north of point V. Point V is north of Point G and West of point O. कबंदु S, कबंदुM के 8 ककमी

उत्तर में है। कबंदु G, कबंदु K के 7 ककमी उत्तर में है। कबंदु O, कबंदु R के उत्तर में और कबंदु S के प़ूवण में है। कबंदु K, कबंदु R के 9 

ककमी पकिम में है। कबंदु G, कबंदुM के प़ूवण में 6 ककमी है। T, कबंदु V के 3 ककमी उत्तर में है। कबंदु V, कबंदु G के उत्तर में और कबंदु
O के पकिम में है।

What is the shortest distance between point S and point G?

A.12km
B.10km
C.9km
D.8km
E.None of the above

What is the shortest distance between point S and 

point G?

A.12km
B.10km
C.9km
D.8km
E.None of the above
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S is the father-in-law of V who is the son of G. O is the only daughter of H who is the 
mother-in-law of Q. V has brother. T is the mother-in-law of B. H is the spouse of G. B is 
the father of N who is the daughter of Q. A is the mother of R who is the niece of O. S, V 
का ससुर है जो G का पुत्र है। O, H की इकलौती पुत्री है जो Q की सास है। V का भाई है। T, B की सास है। H, G का
जीवनसािी है। B, N का कपता है, जो Q की पुत्री है। A, R की माता है, जो O की भतीजी है।

How is R related to N?

A.Cousin
B.Brother
C.Sister
D.Son
E.Can’t be determined

Four of the following five are alike in a

certain way. Who among the following

one does not belong to the group?

A.SA
B.TQ
C.HO
D.OB
E.QN
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